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G:book #
@ hat =xt
@ banana HH-tt
@ eraser AI?7M
@ crayon F3E

ol&

book(#)2] A= /b/YUTh, b/E Al&EHE &

-2 banana(thhh ol B2 He-2 @uct,

@ hat®] A42= /h/AYTh
® eraser?] A= /i/dYT
@ crayon®] A4e]= /k/AY,

G: @ fish 27|
@bag 71
®cap =xt
@ hat (Ho| £&) 2xt

IHE cap(EAH YUt} hat2 o] &3 mzjo]
), OfH A= capolgtal Pyt HEH2 @YY
=3

3
£)1 (e

G: @ cake #ol=
@ window #H2
® doll ¢
@ cat o]

]

790 window(H), doll(Q13), cat(iLeFo])e
AA= ] AUt 2™l gl =% cake(#°]
Aol B2 e O,

=2 26~30% &Y

* cake 7012
* window &=
+ doll &

» cat 10|

4

=71 (=2

G: I like kiwis. U= 7191 Z0t5H.

&)
T like+2419 & ‘U= ~2 Zolsit} g
Utk U ~& Sobsh] et el & djofl=
T don't like+24lW o2 maAIYLH T like
kiwis (W= 71918 Foleith)gta genz @7t
Ayt

1:!:0]

@ I like melons.(t= HWES Zolsf] )2tal d14]
orgtoma oot
@ 1 like grapes (W= EEE Folsl)2k 517
okgroma oekqyc
® 1 like apples (W= AFHE Folal)2k 514
ogroug oukeyr},

5
=1 =2

G: @] can dance. U= &2 & 4 ot
@I can run. L= g3 4 ok
@1 can jump. L= HOHRE 4 Qlch
@ I can swim. L= g8 & 4 ot

Tcan+54s Uetlle 8.2 e ~S & 5
ek e o8 AR 19 JR 013101
7} 9L 5= AwHoln, [ can swim.(U= 4

< o 4 Qltk)oletar Wk 4= Qlem R g2 @
dytt,

- dance E—’T‘—Ef

800 N
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- run E2|CH
* jump FOREC}

« swim gsiCt

6
£)1 (e

G: How is the weather? M7t orL?
B: @It is snowy. =0l LHa,

@1t is windy. Hi=ol =201,

@ It is rainy. HI7HLH,

@It is sunny. 2k,

ol &

IHE 52 djol= How is the weather?(&4/7}
oY)kl E55Uth H] 2= UMK = It is rainy.
(17F 2h ek s e gL @Yyt

* snowy =0| t2l=

» windy HIZ0| £=

- sunny 3Heket

7
=71 =2

G: What’s that? ~z2

B: @ It’s a ruler. 22 xlok
@1t’s a pen. 222 Ho|of,
@ It’s a book. 172 #o[of.
@ It’s a bag. a2 7igfolok,

29io[H?

= this, Hz] "o
et " "oA Sl
L AMES Zo] 2 o] What's that((H 4L 5
oy ?yoletal Z5Utt, HolE 9ol #Ho| gt 7j
ULBZ It's a pen.(ZLA2 Folok )ol2tal tiHsf
oF s} HE-2 @Yyt

- that HA

- ruler Xt

2
30,
rlr
it
0o
rlo
=
o
°
i)
\ﬂ

pen Hl
* bag 712t

4

=71 =2

® G: What’s your name? 42| 0152
B: My name is Hojin. i 0IS2 %lolok.
@ G: What’s this? olz2 20|L?
B:It’s a bag. 3z 71olok.
@ G: How old are you? 4= & &olL?
B: T am six years old. L= 04 200k,
@ G: Happy birthday! 42 Zatell!
B: Thank you. o,

FAOIL?

ofz} ofglo|7} o] F& =il FAl of¥lo|7} |k
AU o5& £ & "oli= "What's your
name?; °]F°] HY?el Eon, SHE "My
name is+ A7) 0]&. 22 g3t "My name is
+ol5. ot 2o FHOoRE Tam+018E. 0] AUs

Uth Ashe oeut,

@ AbEo] AR £ Wb UYL
® e tolE i "ok kYU
@ YU Hoke o) 2k AL,
g0
*name O|E
- how old oLt LIO|7L &
- year (LO]) ~ &, af
* happy =gt
- birthday 4
9
@ G: What’s this? 0lZ2 £0|?
B:Itis a ball. 272 3olok
@ G: What’s that? %2 £o|L?
B:Itis a bag. 322 7iolok.
® G:Good bye. & 7L
B:Bye. &7t
@ G: What color is it? 22 R& AZo[L|?
B: It is yellow. =gtAo|of,




ol&

5 ofdol7t glojAar = Ayt dlojd
o= Good bye.(& 7}.) T+ Bye.(Z 7))k ¢l
ARt Ag-2 @YYt

© 7b7he: Tl YT AHEo] FAA £ T}
= EAYYt,

@ vlia Be] Gl o] YT ABo] FotelA]
23 g BAYU

@ M2 B3 ek At

+ Good bye. & 7t

* Bye. & 7L

10

G: Oh, it’s windy. <. Hizio] 2t
Close the window, please. & & =0t 7,
B: Okay. 27lol.

o &

It's windy.(WFgre] 2t})2kal 3 $of Close the
window.(Ht= 2otet)ehal IS s
2= O9S FoH A2 @YYt

@ Sit down, please.(2FeA| 1)kl sfjoF g,
@ Stand up, please.(ZoAUAL)Ekar afof
o},

@ Open the window, please.(&2 golet)zt
AL sfjof et

- close ETCt

- window &2

* open &Ct

=2 25~30% &Y

1

=71 =2

B: Happy birthday! 4% Zslsf!

G: @ I’'m sorry. DI2fH.
@ Thank you. m0t.
@ Nice to meet you. 2HtA 7t
@ Good bye. & 7%

e
AR E she - dUh, @4t 01"l Happy
birthday! (8 =stafil)=har 7] whzel, A=}
o]glo]= Thank you.(ZHY], )ekal digsh= Zo]
poA 2 w8 thato| 22 Ao @ytt,

DL AR o 2 T,
©& AL whtke 1 2k eyt
@ So)d of 2 T,

12

=71 =2

G:®Itis big. 22 3¢k
@It is small. 3% =it
@ Itis red. 22wk
@ It is blue. 2%2 m2tolok,

AMo|of.

%

Az} ofdo|7t F7 AAZA & T8 7t
1 lend tis big (A2 Ath)oletal W=
Aol 7 Al AU webA] e OUY

>

&

@ It is small (1AL &t} )& o)zl 18o] 28
= 27|17} A7) ol FAEgE Y

®), @ th3}o] W-gof Mzl T R = AAE
of QA grom g FHA-ghr},

- big 2

- small &2

cred &g

* blue I

01 13
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G: @I am nine years old. Lt= 0K &iuch
@1 can dance. L= &2 £ 4 Utk
@1 like bananas. L= BILHE Z0f3iC

@1 like yellow. L= =2tAS 0ttt

o &

RIEW WS AuEy vu= 4 Ayt o
2} 1 am ten years old.(WH= & Ayt gt
3fjoF 3k=d, I am nine years old.(W+= o} A
YUtk Ieu g AXEHA] o= A2 O
Yyt

< can ~& Ut

* dance &FLCt

- like ZOl5ict

* banana HfLtLt

- yellow =&

14
G: One, two, three, five? 1,2 3,57
(Beep)
B:No. One, two, three, four.
OfL|ok 1, 2, 3, 4.

G: Oh! One, two, three, four. 21,2, 3 4.
Thanks. Do,

@® 1212 @ 1234
® 4321 @ 1235
o &

YA} o]&ol7} one, two, three, fourdtil o
2, 1-2-3-47F vjgdsdyct g2 @Yyt

@ 1212 one-two-one-two
® 4321 four-three-two-one
@ 1235  one-two-three-five

15

=71 =2

G: Do you have an umbrella?
U= A2 K| JqU?
B:Yes,Ido. & ol
G: What color is it? 3%2 22 Mo|L?
B:It’s red. 272 wztMo|of.

@ 3H3

@ =7

® w7t

@ uh=t

oz} o] glo]7} What color is it?(Z14-S < Ao]
Ueka 231, @2 ofdolzt It's red. (B 0]
of )zt gleng HH2 @YUt}

@ It's black.(ZA&
gornz eyt
@ It’s yellow.(A =gbolof yatal 3}A] kof
ovnz egryrt,

@ It's blue (LA wfetAolof kil 51X ¢Fgro
ng oueyry

- umbrella 24+

AR olof yolekar 514 gk

* color A4z

- red W

- black &%
- yellow =2
* blue mi2t

16

B: Who is he, Mina? oiutok, 2 S71L?
G:He is my dad. 2= Lte] ofitok.
He is tall. 717t 2,

3H&
dAF of”ol7t 7kEARIES B Who is he,
Mina?("|Hof, = F74?)2hal &al, 944} o



2107} He is my dad.($-2] ohwto )atar @3l
o}, ohHZ ARRlo| A Zkom Ak @¢Uth, who
ek Bo® JAHE he, o1AH: shel #

Y,

o> rlr

@ She is my sister.(711= 12] ofFAJolof )ztal
A e ® oyt

@ She is my mom.(1H+= 2] Hutof yolefar
A e ® kUt

@ He is my brother.(L= H9] H&/do|oF )2taL
SHA] oo EE Ryt

* who =+

+ dad OHit

- tall 7|7t 2

17

® F:Thank you. =0,
B: You’re welcome. ZZHie.

@ F: What’s this? 0122 2o|u?
B: Itis a desk. 2%2 z&olofR.

@ F: Close the window, please.

=S o=

B: Okay. .

@ F: What color is it? F& A4Zo[L?
B:Itis blue. m2tojol|2.

7 & FHS SRS 98l WA S0t Aol &
= Aot = 24Ut o]E W Thank you.(#f
AR )kl wek, §E-2 You're welcome.
(dutell e yoletar gyt g2 OYyr.

@ FARJIA ZaL F& uf A= @YY
@ AU BF S off 2= FHEYYT

@ 7S F31 TS off A= EYUT

- what £

- this O|A

=2 25~30% &Y

« close ECt
* please X%
- okay &0t
* color A4z

18

G:How’s the weather? =Mt ofti?
B:It’s snowing. =O0I Lha.

G: Let’s go out. Stoll LiZExL
B:Okay. =0t
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B:Mina, can you dance?
olLiok, He &5 4= A7
G:No, I can’t. o, L= 2 sl
B:Can you sing? U= 2 25 4= U?
G: Yes, I can. S L= 82 ol

Can you+$24hS Uelis @422 v ~
o Y= %ol e Yes, I can. B+
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No, I can't.2 EUch vlvb= Yes, I can.(S,
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B:Look at that. X% & &t
It is an elephant. 322 Z7l2(of
G: Wow. It is big. <. =t
B: 1 like elephants. L= Z7l2lE ZotaH.
G: Look! That is a lion. & XZ&2 AlXiok,
(Lion roars.) (A7} 22 72Ict)
B:Idon’t like lions. U= Alxk= Z0t51x| @20t
G: (The girl laughs.) (&7t R=tt)

O3d 09¥Y O3
o

Look at+AHE O] &1, AE-S 712|719 ‘BH'el=
YUtk 27188 Ay By ojopr]E wral 9l
© AoR Kol FEdoA tahrt o] Rejx|aL gl
T & dsUth AES @Yk

®52Y

G: How many pandas? Eti7t & of2[o[Lf?
B: @ Four pandas. Ut ot2(ok.

@ Five pandas. Ch4 of2jof.

@ Six pandas. ¢4 ar2(ok.

@ Seven pandas. €& O2of,
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